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Herpetologists (snake specialists) found that a certain spegigs of reticulated python
have an average length of 20.5 feet with a standard deviation of 2.3 feet. The
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scientists collect arrapdom sample of 30 adult pythons and measure their lengths. In
their s.unpk the mean luwlh was 19.5 feet long. One of the herpetologists fears that
pollullon might be a affecting the natural growth of the pythons. Do you think this
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1. It is generally believed that electrical problems affect about 14% of new cars. An
automobile mechanic conducts diagnostic tests on 128 new cars on the lot.

- ( NOR MAL)

a. Describe the sampling distribution for the sample proportion by naming the
model and telling its mean and standard deviation. Justify your answer.
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b. Sketch and clearly label the model.
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¢. What is the probability that in this gnf the new cars will be found
to have electrical problems? F
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1) A population of manufactured products where the random variable X is the weight of
the item. Prior experience has shown that the weight has a distribution with mean 5.0

ounces and standard deviation of 2.0 ounces. ( NORNR‘—) v’
a. What is the probability that the weight of an item randomly selected will be more
than 6.5 ounces? A=\ Sorn A g

b. Usmg proper notation, show the distribution of Y& m‘-“’“

c. What is the probability that if the manufacturer takes a sample of 100 items, that it
has a mean weight between 5.1 and 5.5 ounces?
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